ATOMIC ENERGY EDUCATION SOCIETY
ANNUAL EXAMINATION-2021-2022
CLASS - VIII (SET-II) TIME-3Hrs
SUB: ENGLISH MARKS - 80
ANSWER KEY

SECTION A READING (20 MARKS)
1A (6XI=6)

1) d) all of the above i1) a) taking care of the dog’s needs
ii1) a) to take care of themselves iv) a)understand the dog’s needs
v) b)becoming empathetic vi) d)neglect
B (2X2=4)
1) It helps to devolop a child’s sense of responsiblity ,broadens his capacity for empathy and
teaches the nature of friendship. 2 Marks
i1) 1) taking care of dog’s daily needs 2 Marks

i1) the dog must be fed and exercised every day.

ii1) safety of the dog and safety of the people,

2) A (6X1=6)

i. b) to hometown

ii. b) share the chocolates

iii. a) a baby doll made out of the chocolate wrapper
iv. b) saying a thank you

v. d) untidiness

vi. c) reluctantly

(PTO)



B ( 2X2=4)
a)The author learnt the lesson “a joy of sharing” from the girl.

The author gave two chocolates to the girl. The girl in return gave the author a small doll
which she had made with the wrapper of chocolates, This action made the author speechless and
she learnt the great lesson of life

b) i)Because the author gave only one chocolate to the girl. The girl instead of eating it, gave it
to her brother to eat, This action of the girl puzzled the author.

i1) From her parents and teachers.

SECTION B WRITING — (20 MARKS)
3. Notice 5 Marks

Content — 3 marks
Format — 1 mark
Accuracy-Imark

4.Letter to the editor 7 Marks

Content — 4 marks
Fluency — 2 marks
Accuracy -1 mark
Under content, credit should be given for the candidate’s creativity

5.Story writing 8Marks

Content — 4 marks
Fluency — 2 marks

Accuracy - 1 mark

Title and moral- 1mark.

SECTION -C GRAMMAR —-(20 MARKS)

6. Editing passage (2 X 8=4)
1) was i1) leaving 1i1) lay iv) discoveries  v) during/for  vi) up
vii ) overthrew viii) reduced.
(PTO)



7. Fill in the blanks with apt forms of words  ( 8X1=8)
a) chaired Db)truly c)traveler d)both e)fastest f)shall phone g)rains h)kindly

8. Rewrite the jumbled words to form meaningful sentences (4X1=4)
a) one evening I went along with my parents to the railway station

b) there was a huge crowd at the counter
c) the hawkers were shouting at the top of their voice
d) my parents told me not to go near the railway track

9. Reported Speech  (4X1=4)

a) why he had been late from school the day before

b) There had been a friendly football match between their school
¢) why he had not informed them

d) had rung home but nobody had picked

SECTION -D LITERATURE — (20 MARKS)

10. Textual passage based questions (3X1=3)

1) Thomas Hardy i1) To supervise the renovation work of the church
ii1) Very deep
OR
1) Cloak i1) To keep the body warm  1iii) To keep the cold out.
11. Answer the following question. (any three) (3X2=6)

a). As he was feeling guilty for having orphaned the fawn. (2 Marks for each right answer)

b).Ernest’s words proved his greatness, his life and character nobler than poetry;his white hair
looked like the white clouds surrounding the mountain face

¢)His eyes and fingers were frustrated with exhaustion; he could not express ideas freely

d) The mist blankets the hills which makes visibility difficult, birds stop singing and this makes
the hills distant and silent. (PTO)
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12. Answer any three question from the following. (3X2=6)

a).Dutta da spent most of his time with’Dibya’ the telescope.He was suffering from cold yet
would not put on his sweater, he was lost in star gazing,it was as if the ‘Dibya’ had cast a spell
on him.

b.The pool in Rajputana dried up in hot summer whereas the forest pool never dried up.

c. For the first time Munna was absent in the school,he had to tell lies and then he also thought of
Master ghulam’s cane.

d. The niece played a joke on Sappleton when he came to know that he was a total stranger. She
said that her husband two brothers and a dog had gone for hunting through the window three
years ago. They never returned. But the aunt was still hoping to see them back through the open
window.

13. Answer the following in about 100 words ( 5)

Content 3 marks Fluency Imark Accuracy 1 mark.
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General Instructions:
(1) All the questions are compulsory.
(i1) This paper consists of four sections.
(111) Section A has 30 multiple choice questions of 1 mark each. Section B contains 4
question of 2 marks each. Section C contains 6 questions of 3 marks. Section D
contains 6 questions of 4 marks each.

(1v)Use of calculator and other electronic devices are strictly prohibited.

Section: A (30x1=30)
1. 30 percent of an hour is
(a) 12 minutes (b) 18 minutes (c) 3 minutes (d) 24 minutes
2. Shane buys a toy for Rs 75 and sells it for Rs 100.Gain percent is
(a) 25% (b) 20% (c) 33% % (d) 37%

3. The present population of a town is 24000. If it increases at the rate of 5% per annum, what
will be its population after 2 years?

(a) 26400 (b) 26460 (c) 24460 (d) 26640
4. Find the number ‘a’ if 0.5% of ‘a’ is 3.

(a) 300 (b) 100 (c) 400 (d) 600
5.1f (a+b) =12 and ab = 14, then the value of (a + b%) is

(a) 116 (b) 144 (c) 172 (d) 176

6. 8a’b® + (-2ab) = ?
(a) 4ab’ (b) -8ab’ (c) -4ab’ (d) -4a’b



7.3xy + 6x — 5y -2xy is a
(a) trinomial (b) binomial (c) monomial (d) none of these

8. The value of expression 2a® + 2b” —ab: fora=2,b=11s
(a) 18 (b) 80 (c) 12 (d)8

9. Which of the following is a triangular pyramid having all its faces as equilateral triangles?
(a) tetrahedron  (b) rectangular pyramid (c) square pyramid (d) none of these

10. If the base of a prism is a polygon of ‘n’ sides, then which of the following is the number

of faces of the prism?

(a)n+1 (b)n+2 (c)n—-1 (d)n
11. Find the number of edges of a polyhedron having 7 faces and 10 vertices.
(a) 12 (b) 14 (c) 15 (d) 18

12. Which of the following has its area and perimeter numerically equal?
(a) an equilateral triangle of side 1cm (b) a square of side 1cm
(c) a regular pentagon of side 1 cm  (d) a square of side 4cm

13. If base area of a room is 12m? and height is 3m, then its volume is

(a) 4m’ (b) 36m’ (c) 18m’ (d) 12m’

14.How many cubes of 10 cm edge can be put in a cuboidal box of 1m edge?
(a) 10,000 (b) 1000 (c) 100 (d) 10

15.The multiplicative inverse of 107 is
(a) 107 (b) 10° (c)-107 (d) -10°

16. The standard form of 0.00001275m is
(@) 1.275m  (b) 1.257x 10°m (c) 1.275x10° m (d) 1.275x 10° m
17. Which of the following is the usual form of 5.05 x 10°

(a) 505000 (b) 5050000 (c) 5.0500000  (d) 0.0000505
18. Which of the following is the reciprocal of (_Tg )
OF (b) 1 (©)-1 (@0
19. If 9 kg of sugar costs Rs 238.50, how much sugar can be bought for Rs 371?
(a) 11kg (b) 13kg (c) 14 kg (d) 17kg
20. 3 persons can build a wall in 4 days, then 4 persons can build it in
(a) 3 days (b) 4% days (c) 8 days (d) none of these
21. If x and y vary inversely, find the value of x for y = 10 using the following table
X 5
y 30
(a)2.5 (b) 15 (c) 10 (d) 20



22. In a hostel of 50 girls, there are food provisions for 40 days. If 30 more girls joined the

hostel , how long will these provisions last?

(a) 15 days (b) 30 days (c) 25 days (d) 38 days
23. Which of the following is the common factor of 21x2y and 35 xy2 ?
(a) -7xy (b) xy (c)7 (d) 7xy

24. Factors of x*+ 5x + 6 is

(@x+6)(x+1) (b)E+Hx+1) (o) x+3)(x+2) (d) (x+2)(x+4)
25.(0, y) are the coordinates of a point lying on which of the following?

(a) y-axis (b) x-axis (c) origin (d) none of these

26. If 51a3 is a multiple of 9, where ‘a’ is a digit, then what is the value of ‘a’

(a)lor7 (b)0Oor9 (c)lor0 (d)30r5
27.1f 35b64 is divisible by 3, where ‘b’ is a digit, then the value of ‘b’ is
(2) 0 (b) 1 (c)2 (d)4

28. Read the following statements carefully and choose the correct option. (i) In 3 years the
sum of Rs. 900 will yield an interest of Rs. 324 at 12% per annum simple interest. (ii) In 5 years
the sum of Rs. 750 will yield Rs. 220 interest at 6% p.a. simple interest.

(a) (1) is true only (b) (i1) is true only
(c)both (i) and (ii) are true (d) neither (i) nor (ii) is true

29. Assertion (A) : The perimeter of the figure is 14 cm.

3cm

4cm
Reasons (R) : A perimeter is a closed path that encompasses, surrounds or outlines a two
dimensional shape.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.

30. Assertion (A) : The number 15287 is divisible by 9.
Reasons (R) : A number is divisible by 9, if the sum is a multiple of 9 or if the sum of its
digits is divisible by 9.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true



Section: B 4x2=98)
31) Find the volume of a rectangular box with length, breadth and height as 5x, 3x* and 7x*
respectively.
32) State True/False:
(i) The base of a tetrahedron is a square.
(i1) A cuboid has 12 edges.
33) Find the value of [ 37" + 47 +577°
34) Find all possible values of ‘y’ for which 53yl is divisible by 3.

Section: C (6x3=18)
35) Evaluate 99 using a suitable identity.
36) Verify Euler’s formula for the following solid.

37) Find the height of a cuboid whose base area is 180cm? and volume is 900cm”.
38) Write the following in standard form:
(a) 0.0000085 (b) 318600000 (c) 0.07001
39) Factorize: 121x* + 44xy + 4y*
40) Write the coordinates of the points A,B,C,D,R and Q shown in the graph.
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Section: D (6x4=24)
41) A computer monitor is marked at Rs 15600 and it is available for Rs 12480. Find the
discount given and discount percent.
42) Find the height of a cylinder whose volume is 1.54 m® and diameter of the base is 70cm.
43) If the consumption of petrol be ‘x’ litres and the corresponding distance travelled be ‘y’

km, then complete the following table:

Petrol in litres (x) 4 8 12 15 Xy 25

Distance in Km (y) 60 Y, 180 Y, 300 Y;

44) Factorise: (a) p4 -81

(b) (y* + 7y +10) = (y+5)
45) Solve the following:

() AB (ii) AB
+ 37 X 6
6 A BBB

46) A bank gives 10% interest on the deposits by the ladies. Draw a graph showing the relation

between the amount deposited and the simple interest earned by the ladies and state following
from the graph.

(i) The annual interest earned for an investment of X 250
(i1) The investment one has to make to get an annual interest of X 70.

: I
Sum deposited |, .| o0 | 300 | 500 | 1000
(in¥)
Simple interest | 1[:‘ 20 | 30 | 50 | 100
(in3) | |
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General Instructions:

1. This question paper comprises of two parts- Part A and Part B. There are 47 questions
and all questions are compulsory.

2. Part-A : Q No. 1 to 30 are multiple choice type questions (MCQs) carrying one mark
each which includes Assertion and Reason type and Case Study type questions.

3. Part-B: Question No. 31 to 37 are Short Answer Type-I (SA-I) questions, carrying two
marks each.

4. _Part-B: Question No. 38 to 44 is Short Answer Type-II (SA-II) questions, carrying three
marks each.

5. Part-B: Question No. 45 to 47 is Long Answer Type (LA) questions, carrying five marks
each.

6. Draw neat and labeled diagrams wherever necessary.

PART A
QIChoose the correct answer from the following: (1X30 =30M)
1. During dry weather, while combing hair, sometimes we experience hair flying apart. The
force responsible for this is
a) force of gravity b) electrostatic force

c) force of friction d) magnetic force
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. Which of the following is a false statement?
a) friction acts on both the surfaces in contact.
b) friction produces heat.

c¢) smooth surface has more friction

d) friction is a necessary evil.

. Which of the following instruments produce sound due to vibration of strings?

a) flute b. tabla c. dholak d. sitar

. An object is vibrating at 50 Hz. What is its time period?
a) 0.02s b)2s c)0.2s d)20s

During purification of Copper, thin plate of pure copper is connected to _
a) negative terminal b) positive terminal

c)either positive or negative d) all of these.

Light is falling on surfaces S1, S2 and S3 as shown in the figure.

NN NN

Surface S Surface S,

N\ Y

e T S
Surface S3

Surfaces on which the angle of incidence is equal to the angle of reflection is/are

a) only S, b) S; and S,c) S; and S; d) all the three surfaces
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7. Two mirrors A and B are placed at right angles to each other as shown in the figure

below

ST

A ray of light incident on mirror A at an angle of 25° falls on mirror B after reflection.
The angle of reflection for the ray reflected from mirror B would be

a) 25°b) 50°

c) 65° d) 115° .

8.Which of the following figures depicts the position of Pole star corréctly?

L]

()

(d)

9. The change in seasons on the earth occurs because

a) the distance between the earth and the sun is not constant

b) the axis of rotation of the earth is parallel to the plane of its orbit

c) the axis of rotation of the earth is perpendicular to the plane of its orbit

d) the axis of rotation of the earth is tilted with respect to the plane of its orbit
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10. The beautiful patterns that we obtain in kaleidoscope are because of of light.

a) spectrum b) multiple reflection c) dispersion d) refraction

11.Pressure is defined as

a) forceX mass b) force X area c) force /pressure d) force per unit area

12. Which of the following cannot be charged easily by friction?

a) a plastic scale b) a copper rod c¢) an inflated balloon  d) a woollen mask

13.1 Hz is equal to
a) 1 vibration per minute b) 10 vibrations per minute

¢) 60 vibrations per minute d) 600 vibrations per minute

14. Blind spot is found

a) on retina b) in iris c)onlens  d)on pupil

15.1dentify the poor conductor of electricity from the following.

a) distilled water b) caustic soda solution  c¢) sulphuric acid  d) saltsolution

16 The loudness of the sound depends upon the amplitude of sound wave. If the amplitude
of a sound wave is increased by 3 times, by how many times the loudness of the sound will
increase?

a. 3 times b. 4 times c. 6 times d. 9 times
17.The unit Light year is used to measure which of the following physical quantity?
a. Time b. distance c. weight d. volume
18.Charge acquired by a glass rod when rubbed with silk is

a) negative b) neutral c) positive d) May be negative may be positive
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Directions:Question Number 19 to 22 consists of two statements- Assertion and Reason.
Answer the questions by selecting an appropriate option from below:
a. Both assertion and reason are true and the reason is the correct explanation of the
assertion.
b. Both assertion and reason are true but reason is not the correct explanation of the
assertion.
c. Assertion is true but reason is false.
d. Assertion is false but reason is true.
19. Assertion: The sound produced by a flute is shriller than the sound produced by a drum.
Reason:The frequency of sound waves produced by flute is higher than the frequency of sound
waves produced by a drum.
20. Assertion: Iron is used to make machinery, parts of automobiles, bridges etc.

Reason: Iron does not get corroded easily.

21. Assertion:The pressure increases with increase in the depth of sea

Reason:Pressure is directly proportional to the depth/height of the column of water.

22. Assertion: Magnetic force is an example of a non-contact force.
Reason: Unlike poles of magnet attract each other.
23.Which among the following is the best conductor of electricity?

a) tap water b) distilled water ¢) rain water d) sea water

24. Which of the following statements is correct regarding the sensory cells in human eyes?
a. Rods are sensitive to bright light c. Cones are sensitive to bright light
b. Rods and cones can sense colours d. Cones do not sense colour

25. Which of the following is the safest way to protect yourself from lightning?

a) run into an open field b) open an umbrella for cover

c) take shelter under a tree d) squat low on the ground

26.Incomplete combustion of fuel such as petrol and diesel gives:

a) nitrogen oxide b) sulphur dioxide ¢) carbon monoxide d) carbon dioxide
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27. A major earthquake occurred on 26th January 2001 in which part of India?
a) Uri (Kashmir)b) Mumbai (Maharashtra)c) Guwahati (Assam)d) Bhuj (Gujarat)

Read the following passage and answer Q.No. 28 to 30

The Mathura oil refinery has been responsible for producing pollutants like Sulphur dioxide and
Nitrogen dioxide. These gases react with the water vapour present in the atmosphere to form
Sulphuric acid and Nitric acid. The acids drop down with rain, making the rain acidic. This is
called acid rain. Acid rain corrodes the marble of the monument. The phenomenon is also called

“Marble cancer”.

28. The type of pollution which is affecting TajMahal in Agra to a greater extent is
a) air pollution b) water pollution

¢) soil pollution d) noise pollution

29.The yellowing ofthemarble is due to:
a) Compressed natural gas b) Suspended particulate matter

c¢) Chlorofluorocarbons d) Smog
30.Acid rain mainly contains:
a) sodium chloride b) sulphur dioxide and nitrogen dioxide

¢) hydrochloric acid d) carbon tetra chloride

PART B( 2X7=14)

31. State the Laws of Reflection. 2
32.  Write four ways to by which we can take care of our eyes. 2
33.  List four chemical effects of electric current. 2
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34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Differentiate between a meteor and a meteorite. 2

Why does a charged body lose its charge if we touch it with our hand? 2
Howdoeslubricantshelp in reducing friction? 2
Suggest any two methods to control water pollution. 2

How can you locate pole star with the help of the constellation Great Bear (Ursa

Major). Support your answer with a diagram. 3

Explain how copper gets transferred from one electrode to the other during the 3

process of electroplating?

What is the importance of ozone layer in the atmosphere? Write two consequences 3

of ozone layer depletion?

Give Reason in brief. 3

a. It is convenient to pull luggage fitted with rollers.
b. Mixer Jar becomes hot if run for some time.

c. Birds and fishes have streamlined shape.

“Friction is a necessary evil”. Justify the statement by giving two advantages and 3

one disadvantage of friction.

a) Which effect of electric current is utilized for detecting the flow of current 3
through a solution when a compass is used?

b) Expand LED

c) What is the advantage of using LED in testing the electrical conductivity of

liquids
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44. What are the effects of application of force on an object? Write any three effect.

45. a)Draw a well labelled diagram of a human eye. (3) 5
b) In the human eye, what is the function of the following-(2)
1) Iris i) Retina

46. Ms.Riya, Science teacher of class VIII, taught children how to protect themselves 5
and what to do during an earthquake. She even performed an earthquake drill in
school for better understanding. Children enjoyed this drill and learnt a lot from
this activity.
a) What causes earthquakes? (1)

b) What will you do if you are stuck indoors during an earthquake? Write two
points.(2)

c) How must you keep yourself ready if the area you reside in is prone to

earthquakes? Write two points. (2)

47. a) Define atmospheric pressure.(1) 5
b)“Liquids exert equal pressure at the same depth”. Explain the statement with

a suitable diagram. (4)
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General Instructions:

1. This paper is divided into two parts- Part A and Part B

2. All questions are compulsory.

3. Question no. 1 to 30 are multiple choice questions of 1 mark each.

4. Question no. 31 to 35 are short answer questions of 3 marks each.

5. Question no. 36 to 41 are long answer questions of 5 marks each.

6. Question no. 42 is map based question carrying 5 marks.

7. There is no overall choice in the question paper. However, an internal choice has been
provided in a few questions. Only one of the choices in such questions has to be attempted.

PART - A
Choose the correct answer: 1X30=30
1. Name the person who invented Spinning Jenny?
(a) Andrew Kay (b) Thomas Kay
(c) James Kay (d) John Kaye

2. Complete by choosing the most appropriate word from the following list of options.

The introduction of brought with it ideas of democracy, liberty, fraternity
among the minds of Indians

(a) Western education (b) Subsidiary alliance

(c) Doctrine of Lapse (d) Expansion policies

3. Name the important women personality who wrote and published a book Stripurushtulna,
criticising the social differences between men and women

(a) Sarojini Naidu (b) Mumtaz Ali

(c) Tarabai Shinde (d) Rama Bai Ranade

4. Who was the first Indian Governor-General of free India?
(a) Mahatma Gandhi (b) Jawaharlal Nehru
(c) C. Rajagopalachari (d) Sardar Vallabhbhai Patel

5. Marathi newspaper ‘Kesari’ was edited by
(a) Lala Lajpat Rai (b) Bal Gangadhar Tilak
(c) Chitta Ranjan Das (d) Sarojini Naidu
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6. In which year was the State Reorganisation Committee set up to recommend the redrawing
of district and provincial boundaries of many provinces?

(a) 1956 (b) 1959

(c) 1962 (d) 1965

7. One important feature of the Constitution was its adoption of universal adult franchise.
Which of the following statements best describe this term.

(a) All Indians above the age of 17 would be allowed to vote.

(b) All Indians above the age of 21 would be allowed to vote.

(c) All Indians above the age of 19 would be allowed to vote.

(d) All Indians above the age of 16 would be allowed to vote.

8. Assertion: Indian thinkers were in favour of education for Indians.
Reason: Indianswill be profited by universalization of education .

(a) Both Assertion and Reason are correct and Reason is the correct explanation for

Assertion.

(b) Both Assertion and Reason are correct but Reason is not the correct explanation for
Assertion.

(c) Assertion is Correct but Reason is incorrect.

(d) Both Assertion and Reason are correct.

9. Assertion: Rajhara Hills had one of the finest iron ores in the world.

Reason: Tatas felt this was the most suitable place to set up their factory at Rajhara hills
(a) Both Assertion and Reason are correct and Reason is the correct explanation for
Assertion.

(b) Both Assertion and Reason are correct but Reason is not the correct explanation for

Assertion.

(c) Assertion is Correct but Reason is incorrect.
(d) Both Assertion and Reason are correct.

10. What was the name of the journal started by William Jones, Henry Thomas Colebrooke
and Nathaneil Halhead?
a) Asiatic Journal b)Asiatick Researches

c¢) Asian Affairs d) Asian Chronicle

11. Banking, Insurance sectors etc can be a good example of which of the following type of
economic activity

(a) Tertiary (b) Primary

(c) Secondary (d) Primary and Secondary
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12. The word agriculture is derived from the Latin words ager or agri and Culture meaning
Cultivation. What does the word agri literally mean?

(a) Natural resource (b) Seeds

(c) Soil (d) Product

13. Which one from the following list is a Physical Input to the agriculture system.
(a) Labour (b) Chemicals
(c) Machinery (d) Rainfall

14. Joint sector Industries are owned and operated by the state and individuals or a group of
individuals. From the given list of industries, which one can be called a Joint sector industry?
(a) Maruti Udyog Limited (b) Tata Group of Companies

(c) Reliance Industries (d) All of these

15. Silicon Valley of India is located in
(a) Bengaluru (b) California
(c) Ahmedabad (d) Bombay

16. Which one of the following industries is known as the sunrise industry?
(a) Iron and steel industry (b) Cotton textile
(c) Information technology (d) Agro based industries

17. Movement of people in and out of an area is called
(a) migration (b) death rate
(c) birth rate (d) growth rate

18. Population density refer to

(a) The number of skilled people in a country

(b) The number of people living per square unit of area.

(c) The number of unskilled people in a country

(d) The way in which people are spread across the earth’s surface

19. A few important statements with respect to the Human Resources are given below. Pick
out the one that is not True

(a) The numbers and characteristics of human resources do not change.

(b) Human resource is the ultimate resource

(c) Human resources like other resources are not equally distributed

(d) Human resources differ in educational levels, age and sex

20. When was the Human Resource Development Ministry formed in India at the central
level of Government?

(a) In 1990 (b) In 1985

(c) In 2004 (d) In 2009
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21. What is the act of keeping the accused in custody by the police called?
(a) Cross-examine (b) Detention
(c) FIR (d) All of these

22. Article 21 of the Constitution Guarantees-
(a) Right to Speech (b) Right to life
(c) Right to freedom (d) None of the above

23. Which is not the responsibility of the public prosecutor?
(a) To represent the interest of the state.

(b) Represents the interest of the witness.

(c) Has to act impartially

(d) The prosecutor must conduct the prosecution

24. Which is the Article of Constitution that states that untouchability has been abolished?
(a) Article 16 (b) Article 18
(c) Article 28 (d) Article 17

25.A person is held guilty of crime by a —
a) Witness  b) Police ¢) Judge d) Public Prosecutor

26. How can we prevent water related diseases?

(a) By using pond water (b) By using clean and safe water

(c) By using boring water (d) All of these

27. is a locality which is populated largely by members of a particular community.
(a) Ghetto (b) Adivasis

(c) Minorities (d) None of these

28. Stereotyping of Adivasis is related to their being:
(a) Exotic (b) Primitive
(c) Backward (d) All the above

29. Minimum Wages Act specifies that wages should not be below a specified minimum,
whose interest is protected by this law

(a) Child (b) Owner

(c) Women (d) Workers

30. The Indian Constitution guarantees the Right to Education for all children between the
ages of

(a) 6-18 years (b) 6-15 years

(c) 6-14 years (d) 6-16 years

Page 4 of 6



PART -B
Short Answer Questions

3X5=15
31. Why did James Mill and Thomas Macaulay think that European education was
essential in India? 3)
32. Explain the three problems that the newly independent nation of India faced. 3)
33. Distinguish between Subsistence and Intensive Farming.
A3)

34. What is meant by the term ‘industry’? Which industry is often referred to as the backbone

of the modern industry and why? 3)
35.What is marginalisation? List two reasons why Adivasis are becoming increasingly

marginalised. (3)

OR

Do you think the distribution of public facilities in our country is adequate and fair? Give
an example of your own to explain.

Long Answer Questions
5X6=30
36. Who were the Moderates? How did they propose to struggle against British rule? &)
OR
How did the development of cotton industries in Britain affect textile producers in India?

37. Read the passage given below and answer the questions that follow:

When did you ever afford them a fair opportunity of exhibiting their natural capacity? How
then can you accuse them of want of understanding? If, after instruction in knowledge and
wisdom, a person cannot comprehend or retain what has been taught him, we may consider
him as deficient; but if you do not educate women how can you see them as inferior.

(1) Which social reformer began a campaign against the practice of Sati? (D)
(i1) In which year was Sati banned? 1
(ii1) What is the literal meaning of the word “sati”? @)
(iv) How did the knowledge of ancient texts help the reformers promote new laws? 2)
38. Define the following terms: (1x5=5)
(i) Horticulture (i1) Organic farming (iii) Sericulture

(iv) Nomadic herding (v) Mixed farming

39. What are the similarities between the informationtechnology industries in Bangalore

and California? %)
OR
What are population pyramids? How do they help in understanding about the population
of a country? (1+4=5)
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40. Mention a few crimes listed in the Prevention of Atrocities Act 1989. (5)

41. What do you think the famous cartoonist R.K. Laxman is trying to convey in this
cartoon? How does it relate to the 2006 law ( the Child Labour Prevention Act ). Explain.
(2+3=5)

What do we mean when we speak of law enforcement? Who is responsible for enforcement?

Why is enforcement so important? (1+1+3=5)
42. On the outline map of India locate the following. (1x5=5)
(a)Mysore (b)Benaras

(c)Calicut (d)Masulipatnam

(e)surat

sk s sk s o s sk sk sk sk ok sk ok ki ok ke ke ke sk

Page 6 of 6



TRHTY el hatd @=meE, s

e F-17/03/2022 T qEeT 2021-22 Iqg-1 HeT 30 fAae
FEAT-8 AT §eFq (AT ATH) Ui -40

adft T FAT qAWAE §
T 9T H 2 @S g- F @S qAT @ e |
% @< H ggfasedia o7 2 |
T gT H FUHATHE T 7 |

F G<

1agasedia 75- 10*1=10 3F
(1) FEaleT: &1 o § -
(37) @@ afd (F) A dRA (A) TA AR (F) F]F Al
(2) T T oA B-
() @ (q) FL (A) AW (F) HS
(3) YFaTESTH FT [T -
() " F THS () AR F THS (A) Alg & hs () TAL F T
(4) FwROT Fom w7 T GT=RE -
(37) FROMGHFTAR (F) FAFA (F) FT+TA (F) TA+FA
(5) FATETH FT Gt F=sg 8-
(37) FATHIATET () FA+ATATET () FA+ATET (T) FeA+aATHT
(6) Farmrmer: @1 #@far fo=am &
(31 FEmeae: (@) FEmeT (7)) BEeew (3) BEmeE
(7)@T: w1 Fem as= g-
(3 F@az: (F) fEgm @) =W (3) T9:
(8) TeraT w1 oA 957 B-
(37) TET (F) FAH (H) AT (F) FARSH
(9) AT &7 TF g-
(37) AT (F) | (A) FdAd (T) oA
(10) PrE=aT FET STAT 8-
() ooy & (@) foa wr (@) wEm oA (F) IF AT
T g

2. = & AT dfeAT T Bl Aqare dier- 5 3

TEfeamaT Iefd g afEmicamEt F o =i sfa gegd § @ | WA
I FAFArAAET TGAT Traefe a0 | AT S=a: IrEEr T Fdq1 AT Ty
ey HqUId =ha @ geuta: Eia: | fEiar s s 39 yafda;,

q A AgM ToasT: SAldiayg saee: |
a7

Page | 1



FfvEEAeieTT M FamueEad: |

FATY T Fd=d AT T T |
T AT FAel g HHI JOIT |
T T Fela: T Fig Fauerdey 1|

3. gl o= Wt F saw &S

(1) STEATH A Fiq TSAT Fieq 2

(2) FENRAT-TE F: ST FATLE: 2

(3) Fgel & foerq 2

(4) Fgeft A= F=q 2

(5) FT TEEEM=EAT 7 F=ad 2

(6) sEHTH YaHTOUEEy M A a2

4. foeasias 98 -

(F) T=fd, Tofd, amata, TEaq, Hefd
(@) BT, qaeh:, fovere:, ofeeE, wies

(M) =, T, ous, ey, werw, ot
(1) SATH:, Foceh :, Mo :, FAI 2, JUA:, [z
() TP, aegere, af =, are, awqen

5. STLHHAAET THAH A/ AOLwwAaA=T qred 7 3fq feraa-

(F) FAO T5 AT |

(@) FEET P FE |

() A g T\

() FH THIE FON |

() SF=T: FOET TH: |

6. SENTITEAIRTET FHAMTIFIRI qTo1q o foraa-

ART  AAM AT FAEEEq
() Tereror
(@) 9fr
7. B & w3 ffu-
(1) FEAfET- J=9 F FHewtea 2
2)%F: geEarfua: g ?
(3) TSR FF HATT 2
(4) T eI afgemrer B geafy o
8. I (YT FIAT) 9Tq T AARL: (IqdT Hrer:) ferfem)

9. ATAT TSI [EIF FT W U HIEF (@0 |

5%1=5 3

5 &

5 3

2 I+

2%¥2=4 3AF

2 AF
2 dF

Page | 2



